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QUESTION: 142

During a customer meeting to plan the installation for two Storwize V7000 Unified
systems, the customer details the following requirements. Which solution could
potentially cause a problem at installation time unless corrected?

A. The customer would like to use the iSCSI host port interface on the Storwize V7000
to provide block based storage to a community of Windows 2008 R2 servers

B. The spare Fibre Channel host ports on the Storwize V7000 will be directly
connected to a SAN6B-R protocol router for block based replication to a remote site.
C. The 1Gb Ethernet interface will be used for customer data and the management of
the Storwize V7000 Unified system. The customer data and the management of the
system must be on separate VLANS.

D. The 10Gb Ethernet will only be used for customer data and is to be the preferred
environment for file replication to a remote site. There are Active directory severs at
both sites and services for Unix will be required.

Answer: C

QUESTION: 143

An IBM Business Partner is proposing a Storwize V7000 as part of a solution to their
customer. The customer is not currently an IBM Stowize V7000 user. Who is
responsible for starting a Technical and Delivery Assessment (TDA) review process?

A. The customer

B. The IBM distributor

C. The IBM Business Partner
D. The IBM sales representative

Answer: C

QUESTION: 144
A customer just purchased a Storwize V7000 and wants to upgrade their warranty.
What is the best standard warranty available for the customer?

A. 9x5 with 4 hour response
B. 24x7 with 4 hour response

52



C. 24x7 with 2 hour response
D. 24x7 with 1 hour response

Answer: C

QUESTION: 145

A customer has a Storwize V7000 with nine expansion enclosures, each with 24
drives. Given this configuration, what is the maximum number of drives that can be
added to fully configure the cluster?

A. 240
B. 480
C.720
D. 960

Answer: C

QUESTION: 146

A customer has a Storwize V7000 with a single drive type installed. A question has
been raised as to whether SSDs would alleviate an ongoing application issue. What is
the IBM recommended tool to answer this question?

A. Disk Magic

B. Heat Log Output

C. Storage Tier Advisor

D. Storwize V7000 I/O Statistics

Answer: C

QUESTION: 147
What is the default RAID configuration for a Storwize V7000 using 3 TB drives?

A.RAIDO
B. RAID 5
C.RAID 6
D. RAID 10
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Answer: C

QUESTION: 148
What GUI-based system management tool is used to manage N series storage
subsystems and N series system objects?

A. OnCommand

B. AutoSupport

C. SnapManager Suite

D. Tivoli Storage Manager

Answer: A

QUESTION: 149

A customer wants a new Storwize V7000 with 15 TB usable storage in one chassis.
They need 10 Gbit iSCSI and do not want to use any 7200 rpm drives. What
configuration should be recommended?

A. 2076-212 with 3 TB drives
B. 2076-112 with 1 TB drives
C. 2076-324 with 900 GB drives
D. 2076-124 with 900 GB drives

Answer: C

QUESTION: 150

The technical specialist is assisting a customer during the setup and configuration of
two Storwize V7000 systems in a replicated configuration. As part of this setup, the
customer wants to discover and add non-IBM storage to the Storwize V7000 as a
managed disk. What is the best tool to assist in this process?

A. Disk Magic

B. Storage Tiering Advisor

C. Tivoli Storage Productivity Center Select

D. Tivoli Storage Productivity Center for Replication
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Answer: C
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